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SEwit WEAR (H/H) 6/10 8/19 11/18 1/27 | %
24 AR (KF:57) 7:46 6:30 7:54 6:30 || %
- S VA - Rt Pl it oLy ety
A K % (m) 4.2 4.5 4.2 4.3
gl B B K E E e <) )8
- | R {52 [ i i =
W= o (C) 93.0 98.3 14.0 9.0
it IAS m (°C 25.4 26.9 18.4 13.2
. 0, 1? IRF Bk £ H%}Xf%é ﬁ%m%é H%m%é
= R = P T KR | Pt e | i e R | e B
5| & B B (m) 0.6 1.3 2.4 1.7 1.5
% i B (em) |> 100 [> 100 [> 100 |> 100 [> 100
18 | A4 pH 7.3 7.5 7.5 7.5 7.5
o DO (mg/L) 4.3 7.6 7.4 7.5 6.7
i BOD (mg/L) 1.9 0.9 1.2 0.9 1.2
B COD (mg/L) 7.4 6.3 6.0 6.7 6.6
=L SS (mg/L) 2 [< 1 2 2 2
wmlLE = # (mg/L)|  11.4 9.02 9.72 9.65 9.95
S B (mg/L)| 1.78 1.59 1.79 1.02 1.55
i % il & (mg/L) - - - - -
B K 2 v A (mg/L) - - - - -
e 4 v 7 v (mg/L) - - - - -
53 i) (mg/L) - - - - -
oA 2 A (mg/L) - - - - -
ol % (mg/L) - - - - -
R 7K $R (mg/L) - - - - -
k¥ Bi| (mg/L) - — - - -
?‘g v R 1t 8% (me/L) - - - - -
A WM~ Y (mg/L) - — - - -
Z = 2 (mg/L) - - - - -
Ak W A A4 > (mg/L) 1350 811 876 1340 1094
MBAS (mg/L) 0.03 0.02 0.02 |< 0.02 0.02
€ 7= EEFE (ng/L) 0.09 0.04 0.10 0.14 0.09
o T rEEFR (mg/L) 0.03 0.02 0.10 0.13 0.07
IR e E=ER (mg/L) 10.2 8.01 9.01 8.51 8.93
i | B B2 M B (ng/L) 1.61 1.45 1.63 0.917 1.40
B R s 8 R o awm] 4270 2740 2950 4190 3538
TOC (mg/L) 6.0 4.8 4.8 4.9 5.1
OB oK T INE TE TE
B 7K i (C) 23.4 28.0 20.3 13.0
5 e iAok 38 5| fifbok 38 5 | i ase B2 | P vse .
. ¥ i (cm) 61 39 > 100 [> 100 75
el pH 7.1 7.3 7.6 7.1 7.4
e DO (mg/L) |[< 0.5 |< 0.5 2.5 4.9 2.1
I | BOD (mg/L) 3.0 1.7 1.4 0.7 1.7
5 COD (mg/L) 8.4 5.7 3.4 3.3 5.2
Al SS (mg/L) 4 2 4 1 3
i == = F# (mg/L) 2.27 2.44 2.05 3.05 2.45
Al & B (mg/L)| 0.570 0.604 0.290 0.278 0.436
"Wk A4 A4 > (mg/L)| 12200 11100 | 15900 14300 || 13375
7 |7 E=THER (ng/) 0.74 1.20 0.31 0.42 0.67
fagerE=EFE (mg/L) < 0.01 0.01 0.09 0.08 0.05
1) IR EE=ES (mg/L) 0.15 0.25 1.17 2.07 0.91
B M B (mg/L)| 0.457 0.497 0.261 0.239 0.364
M 178 & 15 8 2 40 00w 31300 | 28500 | 38500 | 35900 33550
TOC (mg/L) 5.3 4.0 2.9 2.4 3.7
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SEwit WEAR (H/H) 6/10 8/19 11/18 1/27 | %
24 AR (KF:57) 8:35 7:40 9:06 7:20 || F %
- 0 fr % Rt QDN Rt Rt
o 7K % (m) 3.6 3.4 3.8 3.5
gl ® W K E xE ) xJE xJE
- | R o i i i =
2 " (C 29.5 28.0 18.5 9.2
=K i (C 24.2 28.2 16.0 12.3
| 1, #? [ERRe H%fm‘fa}’é @%)Iqiifé Eﬁm-ﬁ«é
= R = P 7K R | P e 5 | fafg e 5 | e R
H 75 B B (m) 1.2 1.1 3.8 2.9 2.3
% i £ (cm) 76 26 > 100 [> 100 76
| & pH 7.5 7.9 7.4 7.5 7.6
o DO (mg/L) 3.6 10.9 6.5 7.9 7.2
i BOD (mg/L) 2.2 2.9 1.3 1.1 1.9
B COD (mg/L) 7.1 6.7 5.8 5.5 6.3
H |5 SS (mg/L) 4 1 1 1 2
ol S = # (mg/L)|  8.94 7.63 10.0 9.38 8.99
1 & B (mg/L) 1.57 1.35 0.408 0.413 0.935
T @ &% oD - : E : :
B K I v A (mg/L) - - - - -
e | & ¥ 7 v (ng/l) - - = - -
53 i) (mg/L) - - - - -
" Al 2 A (mg/L) - - - - —
ol % (mg/L) - - - - -
R 7K $R (mg/L) - - - - -
k¥ Bi| (mg/L) - — - - -
?‘g i M # (mg/L) - - - - -
9 WM~ Y (mg/L) - — - - -
Z = 2 (mg/L) - - - - -
WAL W A4 A4 (mg/L) 2460 2670 7070 7890 5023
MBAS (mg/L) - - - - -
< Toe=TMEFE (ng/L) 0.28 0.07 1.74 3.34 1.36
” T rEEFR (mg/L) 0.04 0.06 0.15 0.17 0.11
[l ER (mg/L) 8.02 6.18 7.16 5.12 6.62
o | B B M (ng/L) 1.36 1.09 0.326 0.340 0.779
B X s 8 R (o xwsm] 7510 7860 19400 21600 14093
TOC (mg/L) 5.8 5.8 4.2 3.6 4.9
O oK O TE NE TE TE
B 7K i (C) 23.2 28.7 20.0 12.9
5 = P AR BT K R | D vie R | B e
% . B (em) |> 100 48 [> 100 [> 100 87
e[ 4 pH 7.7 7.8 7.7 7.7 7.7
i DO (mg/L) 3.6 5.0 4.3 7.0 5.0
| g BOD (mg/L) 1.4 2.3 0.6 0.6 1.2
. COD (mg/L) 3.7 4.8 2.5 2.7 3.4
o SS (mg/L) 4 3 3 1 3
=~ & = # (mg/L) 2.82 2.51 1.89 3.17 2.60
Hl & B (mg/L)| 0.293 0.357 0.171 0.188 0.252
WAk W A A4~ (mg/L) 13800 11800 16300 15400 14325
7 | TrE=THER (ng/l) 0.41 0.38 0.28 0.90 0.49
drgfetE=EF (mg/L) 0.09 0.08 0.07 0.08 0.08
) [IF[ e (mg/L) 1.21 1.15 1.34 1.86 1.39
B M B (mg/L)| 0.236 0.266 0.137 0.153 0.198
fe A s B otasyw] 34800 | 29700 | 40300 | 38200 35750
TOC (mg/L) 3.6 3.5 2.1 2.1 2.8
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SEwit WEAR (H/H) 6/10 8/19 11/18 1/27 | %
24 AR (KF:57) 9:14 8:25 9:48 7:05 || F %
- S VA - Rt Pl it oLy ety
A K % (m) 4.5 4.0 4.6 4.7
| BB K E e <) )8
B S {52 [ i i 2
S i (C) 29.0 29.7 16.5 10.0
= K i (C) 25.1 28.7 19.5 14.0
- 0, 1? IR 5 o 10| RS fkdE 2 H%{ﬁ%if%@ H%ﬁf%é
= R = T KR BT /K R | it e 5 | it e 5
= BB B & (m) 1.0 1.3 4.0 2.8 2.3
% 5 £ (cm) 82 25 |> 100 [> 100 77
18 | A= pH 7.5 7.9 7.4 7.5 7.6
o DO (mg/L) 6.4 11.3 5.7 7.8 7.8
i BOD (mg/L) 2.1 4.0 < 0.5 1.1 1.9
B COD (mg/L) 6.6 7.0 6.2 6.0 6.5
ERE SS (mg/L) 4 3 3 2 3
el S = # (mg/L)|  9.65 5.73 9.92 10.4 8.93
A J# (mg/L)| 1.50 | 0.960 | 0.406 | 0.454 | 0.830
=& % | - - - - -
BRI v A (mg/l) - - - - -
w |l = ¥ 7 v (mg/L) — — — — —
53 &h (mg/L) - - - - -
Bl K = A (mg/L) - - - - _
H Tt % (mg/L) - — - - -
i 7K $R (mg/L) - - - - -
53 S| (mg/L) - = - - -
s e b 8k g/ - - - - -
é‘ WM~ B (mg/L) - - - - -
7 = 2 (mg/L) - — - - -
Ak ¥ A A4 (mg/L) 2390 4770 6830 7270 5315
MBAS (mg/L) - - - - -
T | 7oe=7tzEHE mg/L| 031 0.08 1.77 3.94 1.53
o fpgfetE=EFE (mg/L) 0.06 0.08 0.14 0.16 0.11
[IE[ e (mg/L) 8.51 4.75 7.39 5.74 6.60
o | B M M B (mg/L) 1.31 0.798 0.317 0.340 0.691
R s B R o mym] 7480 13700 19000 20300 15120
TOC (mg/L) 5.6 5.4 4.7 4.2 5.0
OB oK T T TE TE
B 7K i (C) 22.9 28.7 19.7 13.6
R X P 7K R B8 T K R | B e R | D v R
¥ i o (em) |> 100 46 [> 100 [> 100 87
el e pH 7.7 7.9 7.8 7.8 7.8
Ve DO (mg/L) 3.3 8.0 5.4 8.1 6.2
I | BOD (mg/L.) 0.9 1.8 1.7 0.7 1.3
5 COD (mg/L) 3.5 5.1 1.8 2.9 3.3
Al SS (mg/L) 1 3 1 3 2
i == = F# (mg/L) 2.62 2.82 1.48 3.26 2.55
Al & B (mg/L)] 0.262 0.427 0.118 0.181 0.247
WAk ¥ A A4 > (mg/L)| 15200 | 10900 | 16800 15600 || 14625
7z | TrE=THESR (mg/L)]| 054 0.32 0.22 1.06 0.54
T rEEFR (mg/L) 0.07 0.09 0.06 0.06 0.07
) HfR TR 2 2 (mg/L) 0.71 1.59 0.94 1.88 1.28
B e M B (mg/L)|  0.205 0.323 0.100 0.139 0.192
fi B X s 8 R (o xmsm| 37700 [ 27600 | 41700 39100 36525
TOC (mg/L) 2.9 3.6 1.5 6.0 3.5
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SEwit WEAR (H/H) 6/10 8/19 11/18 1/27 | %
24 AR (KF:57) 9:50 9:05 10:28 8:30 || T ¥
- S VA - Rt Pl it oLy ety
A K % (m) 4.3 3.5 4.0 4.0
| BB K E e <) )8
B S {52 [ i i 2
S i (C) 29.5 30.2 17.0 9.0
= K i (C) 25.7 28.8 21.7 15.2
- 0, iE! IR 5 o 10| RS fkdE 2 ﬁ%{ﬁ%’f%@ H%ﬁ’%%%é
= R = T K R BT K R | P e R | i v R
= BB B & (m) 1.5 1.2 3.1 2.3 2.0
7 5 2 (em) > 100 57 > 100 [> 100 89
18 | A= pH 7.5 7.4 7.4 7.4 7.4
. DO (mg/L) 7.8 7.7 6.5 7.5 7.4
i BOD (mg/L) - - - - -
BR COD (mg/L) 6.8 7.4 6.6 6.1 6.7
ERE SS (mg/L) 2 2 2 3 2
el S = 5% (mg/L) 10.5 10.7 10.5 10.4 10.5
1 & B (mg/L)| 0.288 0.556 0.373 0.447 0.416
2% & (/D) - - - - -
7K I v A (mg/L) — — — — —
it 2 v 7 v (mg/L) - - - - -
53 &h (mg/L) - - - - -
B8 i 7 o & (mg/D] - - - - -
N T % mg/D)| - - - - -
i 7K $R (mg/L) - - - - -
Kr & (mg/L) - — - - -
s e b 8k g/ - - - - -
é\ WM~ B (mg/L) - - - - -
7 = 2 (mg/L) - — - - -
Ak ¥ A A4 (mg/L) 5760 4510 6800 7970 6260
MBAS (mg/L)
T | 7oE=7M%EHE (mg/L) 0.91 0.77 2.01 3.89 1.90
. fpgfetE=EFE (mg/L) 0.19 0.18 0.16 0.16 0.17
[IE[ e (mg/L) 8.26 6.91 7.57 5.81 7.14
i | B B M B (mg/L)| 0.190 0.420 0.289 0.375 0.319
B X s 8 R (o mm]| 16400 | 13100 18500 | 21800 17450
TOC (mg/L) 5.9 5.9 5.0 4.6 5.4
OB oK T INE TE TE
B 7K i (C) 22.5 28.7 22.0 14.5
R X P 7K R B8 T K R | B e R | D v R
¥ i (cm) 81 39 > 100 [> 100 80
el pH 7.8 7.8 7.8 7.7 7.8
e DO (mg/L) 4.8 6.1 4.8 7.1 5.7
I | BOD (mg/L) - - - - -
5 COD (mg/L) 3.7 5.4 2.0 3.1 3.6
Al SS (mg/L) 4 5 1 3 3
i == = F# (mg/L) 2.53 3.99 1.47 4.01 3.00
Al & B (mg/L)| 0.214 [ 0340 | 0123 | o0.211 0.222
WAL W A A4 (ng/L) 15100 10300 17400 14900 14425
7z | T E=TEER (ng/L)] 0.0 0.36 0.25 1.34 0.59
i rEEFR (mg/L) 0.06 0.10 0.06 0.08 0.08
D HER L2 (mg/L) 1.06 2.37 0.78 2.32 1.63
B e M B (mg/L)| 0.144 0.213 0.102 0.169 0.157
fi X s 8 R (o xesm| 37400 [ 27000 | 42700 37800 36225
TOC (mg/L) 2.8 4.1 1.5 1.9 2.6
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SEwit WEAR (H/H) 6/10 8/19 11/18 1/27 | %
2 Al (R 57) 10:24 | 9:40 11:08 9:10 | T ¥
S VA - AR /O | AR O | ARG O | A L
7 S e
£ K % (m) 4.5 4.0 4.7 4.5
| BB K E XK= <) )8
B S {52 [ i i 2
S i (C) 30.5 31.3 20.0 9.8
= K i (C) 26.0 29.3 20.1 14.2
- 0, iE! IRF SRR | R Skt (0 ﬁ%{ﬁ%’ﬁ%@ H%ﬁ@%%/é
= R = T K R BT K R | P e R | i v R
= BB B & (m) 1.7 1.2 3.6 1.5 2.0
% i £ (cm) 86 41 |> 100 [> 100 82
18 | A= pH 7.6 7.8 7.5 7.5 7.6
. DO (mg/L) 6.8 10.9 6.2 7.5 7.9
i BOD (mg/L) - - - - -
BR COD (mg/L) 6.2 6.6 5.8 5.8 6.1
ERE SS (mg/L) 3 4 1 1 2
el S = # (mg/L)]  6.99 6.32 9.57 11.1 8.50
A J# (mg/L)| 0.743 | 0.882 | 0.371 | 0.420 | 0.604
=& % | - - - - -
BRI v A (mg/l) - - - - -
w |l = ¥ 7 v (mg/L) — — — — —
53 &h (mg/L) - - - - -
Bl K = A (mg/L) - - - - _
H Tt % (mg/L) - — - - -
i 7K $R (mg/L) - - - - -
53 S| (mg/L) - = - - -
s e b 8k g/ - - - - -
é\ WM~ B (mg/L) - - - - -
7 = 2 (mg/L) - — - - -
Ak W A A4 > (mg/L) 6690 4930 7690 7500 6703
MBAS (mg/L)
T | 7oE=7MEE mg/L)] 056 0.23 1.66 3.78 1.56
. g rEEH (ng/L) 0.10 0.11 0.14 0.17 0.13
IHEETEEE SR (mg/L) 5.51 5.04 6.91 5.63 5.77
i | B B M B (mg/L) | 0.622 0.721 0.305 0.337 0.496
H A s B O ot wsyw] 18400 | 13800 | 21100 | 20800 18525
TOC (mg/L) 5.3 5.8 4.1 4.7 5.0
OB oK T INE TE TE
B 7K i (C) 23.0 29.2 21.3 13.1
R X P 7K R B8 T K R | B e R | D v R
. % i  (cm) 93 43 |> 100 [> 100 84
el pH 7.7 7.8 7.7 7.8 7.8
e DO (mg/L) 3.2 5.4 4.4 8.0 5.3
I | BOD (mg/L) - - - - -
. COD (mg/L) 3.7 5.6 2.2 2.8 3.6
Al SS (mg/L) 2 7 3 2 4
i == = F# (mg/L) 2.48 4.47 1.50 3.34 2.95
Al & B (mg/L)| 0.257 0.536 0.140 0.167 0.275
WAk A A4 >~ (mg/L)| 15200 [ 9200 17300 15500 || 14300
7z | T E=T %R (mg/L)]| 054 0.31 0.28 0.96 0.52
i rEEFR (mg/L) 0.06 0.09 0.06 0.06 0.07
D HER L2 (mg/L) 0.97 2.39 0.82 1.76 1.49
B fe M B (mg/L)| 0.190 0.421 0.114 0.133 0.215
fi B s 8 OE o s 38000 | 24400 | 42300 | 39300 36000
TOC (mg/L) 3.2 4.5 1.2 1.0 2.5
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PAN
gl JG T H sonis | s | c OIS
SEwit WEAR (H/H) 6/10 8/19 11/18 1/27 | %
24 AR (KF:57) 11:23 10:40 12:30 10:10 || F %
- S VA - SR JrBE JBE JBE
A K % (m) 5.0 4.5 5.5 5.0
| BB K E XK= <) )8
B S {52 [ i i 2
S i (C) 2.5 30.9 20.0 10.0
= K i (C) 23.3 29.3 19.8 12.0
- 0, 1? H%ﬁ-&%%@ k18 o Eﬁm%é H%ﬁ@%%é
= R = e | BT K R | B e B | g e R
= BB B & (m) 1.1 1.1 4.0 3.1 2.3
% i £ (cm) 36 21 |> 100 [> 100 64
18 | A= pH 8.3 8.1 7.7 7.7 8.0
. DO (mg/L) 11.3 8.7 6.4 8.2 8.7
i BOD (mg/L) - - - - -
BR COD (mg/L) 7.1 6.1 3.7 2.8 4.9
ERE SS (mg/L) 8 7 3 4 6
el S = # (mg/L)|  3.14 3.86 5.15 2.70 3.71
A % (mg/L)| 0.214 | 0.263 | 0.275 | 0.172 | 0.231
=& % | - - - - -
BRI v A (mg/l) - - - - -
w |l = ¥ 7 v (mg/L) — — — — —
53 &h (mg/L) - - - - -
Bl K = A (mg/L) - - - - _
H Tt % (mg/L) - — - - -
i 7K $R (mg/L) - - - - -
Kr & (mg/L) - — - - -
s e b 8k g/ - - - - -
é\ WM~ B (mg/L) - - - - -
7 = 2 (mg/L) - — - - -
WA A A4 >~ (mg/L)| 13700 | 11200 12900 15700 13375
MBAS (mg/L) 0.02 |< 0.02 |< 0.02 |< 0.02 0.02
T | 7oE=THEE mg/L)] 0.15 0.12 0.84 0.75 0.47
. g rEEH (ng/L) 0.05 0.11 0.09 0.07 0.08
IHEETEEE SR (mg/L) 1.45 1.52 3.74 1.62 2.08
i | B B M B (mg/L)| 0.070 0.124 0.227 0.133 0.139
B A s B O ot asm] 34600 | 28400 | 32500 | 39600 33775
TOC (mg/L) 5.4 4.6 1.6 1.7 3.3
OB oK T INE TE TE
B 7K i (C) 21.2 28.5 18.8 11.8
R X e | P8 T K R | B e R | g e R
. ¥ i (cm) 72 29 > 100 [> 100 75
el pH 8.1 8.2 7.8 7.8 8.0
e DO (mg/L) 7.6 8.8 5.4 8.1 7.5
I | g BOD (mg/L) - - - - -
R
5 COD (mg/L) 4.1 5.3 1.8 2.1 3.3
Al SS (mg/L) 7 5 3 6 5
i == = F# (mg/L) 2.23 2.41 1.16 1.38 1.80
Al & B (mg/L)] 0.153 0.227 0.090 0.098 0.142
WAk A A4 >~ (mg/L)| 14800 | 12100 17900 17700 || 15625
z | TrE=THESR (mg/L)|  0.14 0.11 0.14 0.30 0.17
i rEEFR (mg/L) 0.05 0.08 0.05 0.04 0.06
) HER L2 (mg/L) 1.09 1.12 0.59 0.81 0.90
B e M B (mg/L) | 0.086 0.093 0.076 0.078 0.083
fe X s 8 R (o asm| 36800 | 30300 | 43100 44000 38550
TOC (mg/L) 3.7 4.3 0.8 0.9 2.4
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o7 X . X
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SEwit WEAR (H/H) 6/9 8/18 11/17 1/26 | 4 &
24 AR (KF:57) 7:49 6:55 8:00 6:50 || T %
- S VA - Rt Pl it oLy ety
A K % (m) 2.7 2.3 2.8 2.6
| BB K E e <) )8
1. | X {52 [ & i i
S i (C) 98.5 31.5 17.0 5.0
= K i (C) 22.5 27.1 16.9 11.4
- 0, 1? B Kk €4 Eﬁ%%é Eﬁm%é Eﬁ{y—(ﬁ@é
=l R = ik | PR e R | T e R [ i e R
= BB B & (m) 0.8 1.1 0.8 1.7 1.1
% 5 £ (cm) 95 |> 100 75 |> 100 93
18 | A= pH 7.9 7.9 7.3 7.9 7.8
o DO (mg/L) 5.9 6.9 3.9 15.0 7.9
f BOD (mg/L) 1.0 1.1 1.7 1.0 1.2
BR COD (mg/L) 3.2 3.4 3.8 2.9 3.3
ERE SS (mg/L) 1 3 5 3 3
el S = # (mg/L)|  4.97 4.92 2.65 4.05 4.15
1 & B (mg/L)| 0.045 0.052 0.299 0.044 0.110
2% & (/D) - - - - -
7K I v A (mg/L) — — — — —
it 2 v 7 v (mg/L) - - - - -
53 &h (mg/L) - - - - -
= IR = A (mg/L) - — - - —
N T % mg/D)| - - - - -
i 7K $R (mg/L) - - - - -
Kr & (mg/L) - — - - -
s e b 8k g/ - - - - -
é\ WM~ B (mg/L) - - - - -
7 = 2 (mg/L) - — - - -
Ak ¥ A A4 (mg/L) 2090 1960 13400 2690 5035
MBAS (mg/L) 0.02 |< 0.02 [< 0.02 [< 0.02 0.02
T | 7oE=7M%EHE (mg/L) 0.02 0.04 0.79 0.09 0.24
. fpgfetE=EFE (mg/L) 0.02 0.02 0.10 0.03 0.04
[IE[ e (mg/L) 4.08 3.47 1.34 3.69 3.15
i | B B M B (mg/L)| 0.013 0.030 0.249 0.028 0.080
B X s B R (o mm] 6660 6080 34300 8340 13845
TOC (mg/L) 2.7 2.4 3.0 2.3 2.6
OB oK T INE TE TE
B 7K i (C) 23.2 29.0 19.3 12.7
5 = ik s | Ak | R B | B R R
¥ i (cm) 22 45 55 |> 100 56
el pH 7.1 7.0 7.4 7.7 7.4
E DO (mg/L) |[< 0.5 |< 0.5 1.0 6.4 2.1
I | BOD (mg/L) 13 5.7 1.2 1.3 5.3
. COD (mg/L) 28 6.5 4.4 3.3 10.6
o SS (mg/L) 5 2 13 2 6
i == = F# (mg/L) 3.27 3.17 2.15 2.54 2.78
Al & B (mg/L)| 0.529 0.603 0.314 0.147 0.398
WAk A A4 >~ (mg/L)| 12800 | 10300 15800 13400 || 13075
7z | T E=TEER (ng/L)]  0.59 2.04 0.81 0.50 0.99
faEarEzEFR (mg/L) |< 0.01 [< 0.01 0.09 0.07 0.05
D HER L2 (mg/L) 0.18 0.13 0.86 1.67 0.71
B fe M B (mg/L)| 0.180 0.462 0.223 0.116 0.245
fi BB 8O (o xasm| 32600 | 27000 | 39600 | 34200 33350
TOC (mg/L) 13 5.0 3.9 3.0 6.2




) 7E Hh S 4 K | N4 JEY I E T AT 4
PAN
ke 1 AL HORO (| C HIIES
SEwit WEAR (H/H) 6/9 8/18 11/17 1/26 | 4 &
24 AR (KF:57) 9:25 8:40 9:28 9:40 || T ¥
- S VA - T | T | T | T g
A K % (m) 1.5 1.2 1.2 1.5
| BB K E e <) )8
1. | X {52 [ i i i
S i (C) 2.5 31.0 17.5 7.0
= K i (C) 24.6 29.0 16.6 11.2
- 0, 1? Eﬁm%’é Eﬁm%é Eﬁm%@ Eﬁm%é
= R = Pt me R | P e B | i ee B | e R
= BB B & (m) 0.5 1.0 1.2 1.5 1.1
7 5 £ (cm) 62 |> 100 [> 100 [> 100 91
18 | A= pH 7.2 7.8 7.4 7.8 7.6
. DO (mg/L) 3.4 7.0 4.2 11.3 6.5
i BOD (mg/L) - - - - -
B COD (mg/L) 5.9 3.1 2.7 2.7 3.6
ERE= SS (mg/L) 4 [< 1 1 2 2
el S = # (mg/L)|  4.61 3.85 2.63 3.67 3.69
1 & B (mg/L)| 0.201 0.092 0.362 0.080 0.184
2% & (/D) - - - - -
7K I v A (mg/L) — — — — —
it 2 v 7 v (mg/L) - - - - -
53 &h (mg/L) - - - - -
= IR = A (mg/L) - — - - —
N T % mg/D)| - - - - -
i 7K $R (mg/L) - - - - -
Kr Eid (mg/L) - — - - -
s e b 8k g/ - - - - -
é‘ WM~ B (mg/L) - - - - -
7 = 2 (mg/L) - — - - -
Ak ¥ A A4 (mg/L) 4370 3480 13900| 5680 6858
MBAS (mg/L) - - _ _ _
< 7= MEEFE (ng/L) 0.31 0.23 0.69 0.19 0.36
. fpgfetE=EFE (mg/L) 0.02 0.05 0.08 0.04 0.05
[IE[ e (mg/L) 2.56 2.87 1.46 3.15 2.51
o | B B M B (mg/L)| 0.061 0.060 0.312 0.059 0.123
B X s B R (o msm| 12600 10200 [ 35800 16200 18700
TOC (mg/L) 5.2 3.0 2.3 3.0 3.4
OB oK T INE TE TE
B 7K i (C) 24.2 29.0 18.1 12.4
b = P e R | P e R | P e R | ok 5
¥ i (cm) 29 76 > 100 [> 100 76
el pH 7.3 7.6 7.4 7.7 7.5
E DO (mg/L) |[< 0.5 1.2 3.0 10.1 3.7
I | BOD (mg/L) - - - - -
5 COD (mg/L) 15 4.6 3.0 2.7 6.3
Al SS (mg/L) 17 2 6 2 7
i == = F# (mg/L) 2.56 3.32 2.41 2.22 2.63
Al & B (mg/L)| 0.460 0.258 0.317 0.170 0.301
wWAb ¥ A A4~ (mg/L)| 11800 7420 14800 15900 || 12480
7z | T E=TEER (mg/L)]| 042 0.74 0.62 0.58 0.59
faEsrE=EFR (mg/L) < 0.01 0.06 0.08 0.05 0.05
D HfRYE 2 R (mg/L) 0.17 1.64 1.22 1.14 1.04
B e M B (mg/L)| 0.199 0.165 0.267 0.139 0.193
fi A s B R o wsm] 30300 19300 | 38000 39800 31850
TOC (mg/L) 8.8 3.6 1.7 1.7 4.0




) 7E Hh S 4 K | N4 JEY I E T AT 4
PAN
ke S g HORO (| C I
SEwit WEAR (H/H) 6/9 8/18 11/17 1/26 | 4 &
24 AR (KF:57) 8:42 8:00 8:47 9:20 || F %
- B0 A % HeAdhy | EeEy | s | s
A K % (m) 3.2 2.6 3.3 1.9
| BB K E e <) )8
1. | X {52 [ i i i
S i (C) 2.5 32.0 18.0 8.5
= K i (C) 26.8 31.5 16.9 8.8
- 0, 1? Eﬁ{@fﬁ%@ H%@%%@ Eﬁm%é Eﬁ{y—(ﬁ@é
= R = Pt me R | P e B | i ee B | e R
= BB B & (m) 0.6 1.1 2.6 1.8 1.5
% 5 £ (cm) 63 42 |> 100 [> 100 76
18 | A= pH 7.6 7.9 7.6 7.8 7.7
. DO (mg/L) 12.1 9.9 5.7 10.7 9.6
i BOD (mg/L) - - - - -
B COD (mg/L) 6.8 4.9 2.5 3.2 4.4
ERE= SS (mg/L) 2 2 < 1 3 2
el S = # (mg/L)|  3.46 2.94 2.87 3.29 3.14
A J# (mg/L)| 0.268 | 0.193 | 0.391 | 0.142 | 0.249
=& % | - - - - -
BRI v A (mg/l) - - - - -
w |l = ¥ 7 v (mg/L) — — — — —
53 &h (mg/L) - - - - -
Bl K = A (mg/L) - - - - _
H Tt % (mg/L) - — - - -
i 7K $R (mg/L) - - - - -
53 S| (mg/L) - = - - -
s e b 8k g/ - - - - -
é‘ WM~ B (mg/L) - - - - -
7 = 2 (mg/L) - — - - -
WAk ¥ A A4~ (mg/L)| 10400 8190 14200 8580 10343
MBAS (mg/L) - - _ _ _
< 7= MEEFE (ng/L) 0.19 0.26 0.47 0.30 0.31
. fpgfetE=EFE (mg/L) 0.06 0.10 0.07 0.04 0.07
[IE[ e (mg/L) 1.90 1.60 1.90 2.60 2.00
i | B B M B (mg/L)| 0.158 0.084 0.353 0.116 0.178
R s B R otasyw] 27300 | 21700 | 36200 | 23100 27075
TOC (mg/L) 5.7 4.1 1.8 4.4 4.0
OB oK T INE TE TE
B 7K i (C) 22.8 30.0 19.7 12.0
5 = A | ik sen | PSR R | Pl e R
¥ i (cm) 55 45 > 100 [> 100 75
el pH 7.5 7.4 7.6 7.8 7.6
E DO (mg/L) 1.9 |< 0.5 3.0 8.4 3.5
I | BOD (mg/L) - - - - -
5 COD (mg/L) 5.7 6.5 2.4 2.9 4.4
Al SS (mg/L) 4 2 < 1 2 2
i == = F# (mg/L) 2.49 2.63 1.73 2.32 2.29
Al & B (mg/L)| 0.296 0.449 0.218 0.167 0.283
WAk A A4 >~ (mg/L)| 14600 | 13600 17000 15000 || 15050
7z | T E=TEER (ng/L)]  0.59 1.41 0.39 0.43 0.71
i rEEFR (mg/L) 0.07 |< 0.01 0.07 0.05 0.05
) HfRYE 2 R (mg/L) 0.67 0.13 0.85 1.48 0.78
B e M B (mg/L)] 0.171 0.342 0.174 0.130 0.204
fi B s TR o s 36300 | 33900 | 41600 | 37800 37400
TOC (mg/L) 4.2 4.5 1.3 1.2 2.8




I Hh S 4 Kig | w)ig | R | AETITA A4
PAN
s NI sORCH (meiE| LS
SEwit WEAR (H/H) 6/9 8/18 11/17 1/26 | 4 &
24 AR (KF:57) 11:09 9:50 10:30 8:31 || T ¥
S VA - Bk | Bk Bk Bk
5 A K % (m) 4.6 3.3 3.9 5.1
| BB K E e <) )8
1. | X {52 [ i i i
S i (°C) 927.9 31.0 19.5 8.0
= K i (C) 27.0 30.5 18.0 11.2
- 0, iE! Eﬁ{@%%’é H%@%%é Eﬁm%@ Eﬁm%é
= R = Pt me R | P e B | i ee B | e R
= BB B & (m) 1.1 1.0 2.0 2.5 1.7
7 5 £ (cm) 48 35 > 100 [> 100 71
18 | A= pH 8.1 8.2 7.6 7.8 7.9
. DO (mg/L) 12.9 11.8 6.4 8.9 10.0
i BOD (mg/L) - - - - -
B COD (mg/L) 7.2 6.0 2.4 2.3 4.5
ERE SS (mg/L) 5 4 3 2 4
el S = # (mg/L)|  3.74 2.80 2.61 2.45 2.90
1 & B (mg/L)| 0.288 0.234 0.377 0.201 0.275
2% & (/D) - - - - -
7K I v A (mg/L) — — — — —
it 2 v 7 v (mg/L) - - - - -
53 &h (mg/L) - - - - -
= IR = A (mg/L) - — - - —
N T % mg/D)| - - - - -
i 7K $R (mg/L) - - - - -
Kr & (mg/L) - — - - -
s e b 8k g/ - - - - -
é\ WM~ B (mg/L) - - - - -
7 = 2 (mg/L) - — - - -
WAk ¥ A A4~ (mg/L)| 10300 9900 14900 14900 12500
MBAS (mg/L)
T | 7oE=7M%EHE (mg/L) 0.19 0.09 0.32 0.42 0.26
. fpgfetE=EFE (mg/L) 0.06 0.09 0.06 0.05 0.07
[IE[ e (mg/L) 1.84 1.48 1.82 1.67 1.70
i | B B M B (mg/L)| 0.153 0.050 0.325 0.159 0.172
B K s B R (o awem] 27600 [ 25600 | 37300 37600 32025
TOC (mg/L) 5.8 5.4 1.7 1.1 3.5
OB oK T INE TE TE
B 7K B (C) 21.6 29.0 19.8 10.7
5 = bk | bk S8 5 | Do e B [ i e R
. ¥ i (cm) 61 42 > 100 [> 100 76
el pH 7.7 7.8 7.8 7.9 7.8
E DO (mg/L) |[< 0.5 2.7 4.0 8.8 4.0
I | BOD (mg/L) - - - - -
5 COD (mg/L) 4.1 4.4 1.8 2.3 3.2
Al SS (mg/L) 5 3 2 7 4
i == = F# (mg/L) 2.28 2.01 1.29 1.39 1.74
Al & B (mg/L)] 0.278 0.253 0.112 0.103 0.187
WAk A A4 >~ (mg/L)| 16300 | 13900 17500 17700 || 16350
7z | T E=TEER (ng/L)]  0.68 0.40 0.13 0.23 0.36
i rEEFR (mg/L) 0.06 0.05 0.06 0.04 0.05
) HfRYE 2 R (mg/L) 0.56 0.69 0.66 0.76 0.67
B e M (mg/L)|  0.215 0.163 0.104 0.072 0.139
fi B s 8O o xwsm| 39700 | 34400 | 43100 | 43200 40100
TOC (mg/L) 2.9 3.5 1.2 2.3 2.5




T E R A A | W4 | s | e TR A4

W5 i BRI | sUsEmR | C IS
HEARBR (A/H) 6/9 8/18 11/17 1/26 || 4 FE
FHARFZ] (RF:57) 10:15 10:35 11:23 7:40 || F
S VA - B B Bl B
== K % (m) 3.6 4.1 4.6 5.2
O oK O E e *=JE )8
FN {52 [ i i i
= B (C) 29.5 31.5 19.5 5.5
7K i (C) 25.8 31.0 19.3 11.0
=) A B fktE 2| Rkl o | IRk 8 | B KR (A
5 = P e R | P e R | paf e | e R
75 B B (m) 0.8 0.9 2.3 2.2 1.6
% i £ (cm) 33 25 |[> 100 [> 100 65
pH 7.6 8.3 7.7 7.7 7.8
DO (mg/L) 14.5 12.6 6.2 9.2 10.6
BOD (mg/L) - - - - -
COD (mg/L) 8.9 6.3 2.5 3.3 5.3
SS (mg/L) 9 6 4 2 5
£ %= # (mg/L) 4.31 2.97 2.88 3.37 3.38
o B (mg/L)| 0.342 0.262 0.258 0.289 0.288
S il # (mg/L) = — - - -
B K I v & (mg/l) - - - - -
e | & ¥ 7 v (ng/l) - - = - -
53 i) (mg/L) - - - - -
" Al 2 A (mg/L) - - - - —
ol % (mg/L) - - - - -
a 7K R (mg/L) - - - - -
&l (mg/L) - — - - -
WO M 8k (mg/L) - - - - -
WM~ Y (mg/L) - - - - -
7 = 2 (mg/L) - - - - -
WAL W A4 A4 (mg/L) 11100 [ 10000 14300 13400 12200
MBAS (mg/L) 0.02 0.02 [< 0.02 [< 0.02 0.02
Toe=TMEFE (ng/L) 0.24 0.04 0.44 0.49 0.30
T rEEFR (mg/L) 0.04 0.10 0.06 0.06 0.07
[l ER (mg/L) 1.83 1.47 2.04 2.37 1.93

e e M (mg/L) 0.175 0.079 0.220 0.232 0.177
i HOR (0t xasm| 29100 26200 36900 34300 31625

TOC (mg/L) 6.3 5.6 1.9 3.1 4.2
O oK O TE NE TE TE
7K i (C) 21.9 27.5 18.8 10.7
5 = v R | Do R | e R | e
% . o (cm) 98 66 [> 100 [> 100 91
pH 7.7 7.8 7.8 7.9 7.8
DO (mg/L) 6.1 4.2 5.5 8.9 6.2
BOD (mg/L) - _ _ _ -
COD (mg/L) 3.6 3.1 1.7 2.6 2.8
SS (mg/L) 7 3 6 5 5
4 = # (mg/L) 2.29 1.70 1.21 1.37 1.64
4 B (mg/L)| 0.166 0.230 0.128 0.103 0.157
WAk W A A4~ (mg/L) 15600 [ 15700 18000 17500 16700
ToE=TM%EFH (mg/l) 0.28 0.26 0.04 0.20 0.20
drgfetE=EF (mg/L) 0.05 0.04 0.05 0.04 0.05
[IF[ e (mg/L) 0.91 0.54 0.65 0.78 0.72

o M B (mg/L) 0.122 0.154 0.093 0.070 0.110

R E O FE 0y 38400 37900 43200 43100 40650

TOC (mg/L.) 2.8 2.7 1.7 1.4 2.2




